Geometric Sequences: Function and Recursive Rules

Find the function/explicit rule from the table given below.

I —
x {0 1 2 3 4 5
y \1_/ 2 4 8 16 32

£ () ':RCNQ’“

Find the recursive rule from the table given below.

X [o ) 1 2 3 a 5
k}.u/’:’_w 8 16 32
O|O S i Qn - 2 Q.n 3 l
nexk prcwi ov$
Find the function/explicit rule from the table given below.
X 0 1 2 3 4
f(x) 9 18 36 i 144
x
£6y=9a(a)
Find the recursive rule from the table given below.
n 0 i 2 3 4
an 9 18 36 72 144
Q.= ﬁ =
i 0= da
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Find the function/explicit rule from the table given below.

X 0 1 2 3 4
f(x). 160 130 (15 7.5 13.75
i %
= o(2)
%
2655 6O 53
Find the recursive rule from the table given below.
n 0 1 2 3 4
an 60 30 15 7.5 3.75
B} |
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Find the function/explicit rule from the table given below.

X

&)

1

2

3

4

f(x)

20

10

5

2.9

1.25

w—1
6= 6(L)

£ (%) =20

Find the funectien/explicit rule from the table given below.

(3)

recuisioe
n 1 2 3 4
an 10 5 25 1.25
q =10 « =da, a.<20 @, =]
\ hyy & b T 3 M
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Geometric Sequences: Finding explicit and recursive rules staninw

Identify the common ratio. Write a recursive function and an explicit function for each sequence.

5La%0
L2341 5 7
1. (2hofsof250{1250, L350 7 Common Ratio: 5
% I
31250 X=
Recursive Function: Explicit Function :é (x ! - 9- (5)
C\““':- Sy

Q = Al 3?/ .
y l
2. 999, 333, 111, AWS _J_LI,, _.L]l(:ommon Ratio: _-§ i
_l3_|_l_ JIU ¥/\' o5

Recursive Function: Explicit Function :c ! ! I: qqﬁ 3

q‘.—ﬁ‘ic\ G Lq

L% A 3 N

Find the missing terms for each geometric sequence and state the common ratio

4

1. 1,4, .64, F ;,ﬁ,12, 36,
Common ratio Common ratio

Recursive Function: Recursive Function:

Explicit Function Explicit Function
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